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1. Complete the addition number sentences. 
23 + 12 =		23 + 56 = 			34 + 27 =			23 + 75 =

26 + 54 =		50 + 28 =			12 +58 = 			42 + 33 

2. Can you work out the answer to these addition word problems? 

a) Sophie and Ted are collecting football stickers. Ted has 25 football stickers. Sophie has 36. 
How many stickers do they have in total? 
How many more stickers does Sophie have then Ted?


b) Megan is collecting special coins; she has 26 out of 82 to complete her set. She orders another 26 from the post office.
How many coins does she have now? 
How many more coins does she need to complete her set? 

Challenge
Can you write your own addition word problem? 
